Economics 431

Professor Leffler

First Exam

Spring 2004



Your score depends on your explanation and use of economic logic.  Think before writing.  I urge you to outline an answer before writing it out.  Extraneous, irrelevant and redundant parts of your answer will be negatively rewarded. 

You must use pen and an exam booklet.
ICP (International Chemical Products) makes an additive called XOPP that is used to reduce friction in petroleum pipelines.  For the last few years ICP has generally had 1/2 of the industry sales of 480 bbls (thousands of barrels per month).  They and their competitors charge $320 per bl (barrel) of XOPP.

Last year, ICP had safety problems at a number of their plants that required ICP to temporarily shut those plants down.  The problems did not affect ICP’s competitors.  During the period of the shutdowns, industry sales fell to 400 bbls per month and the price rose to $400 per bl.

ICP was formed by combining all but 4 plants of various suppliers.  ICP’s plants and its competitors’ plants are essentially the same.  A consultant hired by ICP has estimated that the competitors would shutdown if the market price fell to $80 or less.
You may assume linear demand and marginal cost.
1. Market Power.

A. Define market power.

B. Does IPC have significant market power? 
C. Did IPC have market power during the period of input contamination?

D. How many plants was IPC running during the safety problem period?

2. Capacity.

A. What share of industry capacity does IPC have?  
B. Could the ratio of capacity to output measure market power?

3. Predatory Pricing.

A. What is the expected market “value” of one of the independent plants (assume the interest rate is 10%)?

B. What is predatory pricing?

C. What would it “cost” ICP to engage in predatory pricing?

D. Under what circumstances, if any, would you expect ICP to engage in predatory pricing?

4. Welfare loss.

A. What is the value of the “welfare triangle” in this situation?

B. What other facts would you like to know to get a more accurate estimate of the true welfare loss from any non-competitive pricing in this situation? 
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